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Answer any five questions
All questions carry equal marks

N7 —.J.a) E,xplam the possﬂ)le l;mit states thnt afe conSIderedxm the Jimit state methed of des!g\n

AL of s\teel structureg.., | - { JAR { = e [ oy
f A et ) Expiam various’ *mo&és -of failure (behnv:or) of bolted eomaectlons w1th néat- sketches N T
[8+7]
2.a) What is prying action? How is it accounted for in the design?
b)  Write the detailed steps for design of the stiffened welded seat connection (subjected to
A -~ mome,nt‘siue to shear) A 5 [7+s]
JAS \) \ { i vag
P amn LN ,'D_es;gn a-laced coTLﬂnn__,with two channels back ’to Back of effectlve length 52 m to‘ A
carry a working axial compressive load of 800 kN. [15]
4.2) What are lug angles? Explain the design prmc1ple of lug angle.
b) Design a column with effective length 7m. It is subjected to an axial load of 1500 kN.
Provide two channel sections placed back to back with lacmg Desngn suitable lacing
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Sl e Wrrte brxeﬂy about bendmg and shearmg strength of a]aterally supported ‘beam. AP
b) Design a laterally supported beam for an effective strength of 5m to carry and U.D.L of
50 kN/m for its entire span. Check for shear and deflection. [5+10]
6.a) Discuss various methods of plastic analysis of structures.
A s b) Dqtermme plastlc,,gnomcnt capacua( for-the contlmious ‘beam shown. Plastic moment .
(Ll«,& \ p papaclty for each span 1s mentloned ip} ’.the ﬁgure below & ,!__} i~ [5+m;\
T 20kN/m 8OkN d"’ 50 kN
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i "7 .a) /Write the steps fnvolVed in the désngn of pfate girder. * " : s y £
'b)  Analyse the expression for the economical depth of the plate girder. (8+7]
8. Design of gantry girder for an electric overhead crane with the following data:
Capacity of crane= 100 KN. Weight of trolley=40 KN, Weight of crane girder=200KN,
e Span of crane gnr@@r‘l&m Centre,to Centre distange between coluars—Bm, Minimym .-,
H ¢léarance., betwegn', lrolley and éaulry g,lrder 5 ’1 2 m., centre; dgsﬁance of crane e
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